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e Please check that this question paper contains 12 printed pages.
¢  {ode number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
e Please check that this question paper contains 30 questions.
®  Please write down the serial number of the question before attempting it.
15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
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All questions in both sections are compulsory.

Marks for questions are indicated against each question.

Question No. 1-5 and 16-20 are very short answer questions carrying 1 mark each.
They are required to be answered in one sentence.

Question No. 6-8 and 21-23 are short answer questions carrying 3 marks each.
Answers to them should not normally exceed 60 words each.

Question No. 9-11 and 24-26 are also short answer questions carrying 4 marks
each. Answers to them should not normally exceed 70 words each.

Question No. 12-15 and 27-30 are long answer questions carrying 6 marks each.
Answers to them should not normally exceed 100 words each.

Answers should be brief and to the point and the above word limit be adhered to as

far as possible.
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‘A few big sellers’ is a characteristics of : (choose the correct alternative)

(a) Perfect competition

(b) Monopolistic competition

{¢c) Oligopoly
(d) None of the above
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Marginal revenue of a firm is constant throughout under : (choose the correct
alternative)

(a) Perfect competition

{b) Monopolistic competition

{¢) Ohgopoly
(d) Allthe above
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A producer starts the business in the building owned by him and borrows money for
running it. Identify implicit cost.
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(d) 1
_A firm is able to sell more quantity of a good only by lowering the price. The firm’s

marginal revenue, as he goes on selling, would be :

(choose the correct alternative)

(a) Greater than average revenue

(b) Less than average revenue

(¢)  Equal to average revenue

(d) Zero
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What is price-maker firm ?

6. XaﬁYaﬁﬁaﬁTﬁuﬁnﬁﬁmWﬂHﬁm—) 18 | 579 & Ferwat T st oimere
& SRl 2 3
Price elasticity of demand for the two goods X and Y are zero and () 1 respectively.
Which of the two is more elastic and why ?
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Explain the meaning of ‘minimum’ price ceiling and its implications.
OR
Explain the chain of effects of ‘increase’ in demand of a good.

58/2/3 4




g, UE IUHET ool & gEqH X AR Y 1 SHHT FA © | dria Wi 3 3 € Seih
XaﬁTYﬁruﬁrm&a@mﬁW:%4ﬁﬂ?2%lwmﬂWWﬁ%?wﬁm
yfafsRar &/ gl 2 RoT T |

A consumer consumes only two goods X and Y. Marginal rate of substitution is 3
and per unit prices of X and Y are 7 4 and T 2 respectively. Is the consumer in
equilibrium ? What will be the further reaction of the consumer ? Give reasons.
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What type of production function is this in which only one input is increased and

others kept constant ? State the behaviour of total product in this production function.
OR

Define cost. State the behaviour of (a) Total Fixed Cost and (b) Total Variable Cost as

output is increased.
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A producer supplies 100 units of a good at a price of ¥ 20 per unit. Price elasticity of
supply is 2. At what price will he supply 50 units ? Calculate.
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Define demand. State the factors affecting market demand.
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A consumer consumes only two goods X and Y. Explain the conditions of consumer’s

equilibrium using Marginal Utility Analysis.
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Explain the implications of the following :
(a) Product differentiation in monopolistic competition.
(b) Perfect knowledge in perfect competition.

OR

Explain the implications of the following :
(a) Interdependence between firms in oligopoly.
(b) Large number of sellers in perfect competition.
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Explain the concepts of Opportunity Cost and Marginal Rate of Transformation using
a production possibility schedule based on the assumption that no resource is equally

efficient in production of all goods.
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Explain the difference between “Shift of Supply Curve” and ‘“Movement along Supply
Curve”. State one factor responsible for each. Use diagrams.
gheanfim wenteat & o

T AT O g S bt <1 kAT § | S I % SMUR W St S arerh 9
TR I AT T & 1 R GHEST | U W STl T |
For blind candidates :

Explain the derivation of market supply schedule from individual’s supply schedules
assuming that there are only two sellers. Take a numerical example.
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Disinvestment by government means : (choose the correct alternative)
(a) Selling of its fixed capital assets
(b) Selling of shares of public enterprises held by it.
(c) Selling of its buildings

(d) All the above
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Balance of Payments ‘deficit’ is the excess of : (choose the correct alternative)
(a) Current account payments over current account receipts.
(b) Capital account payments over capital account receipts.
(c) Autonomous payments OVEr autonomous receipts.

(d) Accommodating payments over a accommodating receipts.
g pay g

18. et T = e S | i
Define Gross Investment.
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Unforseen obsolescence of fixed capital assets during production is

(choose the correct alternative)

(a) Consumption of fixed capital
(b) Capital loss
(¢)  Income loss

(d) None of the above
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What is capital expenditure ?
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Consume using a numerical example.
OR

Explain how can government spending be helpful in removing deficient demand.
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An economy is in equilibrium. Find autonomous consumption expenditure :

National Income = 1600
Investment Expenditure = 300
Marginal Propensity to Consume = 0.8
23. = TS 3 T 600 B 3R HEa gusHish 100 8, O I 379 FH GHeerT i | 3

If nominal income is ¥ 600 and price index is 100, find real income.
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Explain the ‘Unit of Account’ function of money. How has it solved the related
problem created by barter 7

OR
Explain the ‘Standard of deffered payment’ function of money. How has it solved the

related problem created by barter ?
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Explain ‘Bankers Bank’ function of central bank.
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Government spends on child immunization programme. Apnalyse its impact on Gross

Domestic Product and welfare of the people.
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Indian investors borrow from abroad. Answer the following

(a) In which sub-account and on which side of the Balance of Payments Account

will this borrowing be recorded 7 Give 184501,

(b) Explain what is the impact of this porrowing on exchange rate.
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What are revenue receipts 7 Explain the role of government budget in bringing
stability in the economy.
OR

What is government budget 2 Explain the role of government budget in influencing

allocation of resources in the economy.
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Find National Income and Personal Disposable Income :

(T crore)
(1) Undistributed profits 70
(i)  Gross National Disposable Income 1,000
(i11) Net current transfers to abroad 20
(iv) Consumption of fixed capital 100
(v) Corporation tax 200
{(vi) Indirect tax 250
{(vii) Current transfers from government 50
(viil) Subsidies 60
(ix) Private income 800

{x) Personal tax
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Derive the two alternative conditions of expressing national income equilibrium. Show

these equilibrium conditions on a single diagram.
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For the blind candidates :

,Derive the two alternative conditions of expressing national income equilibrium.
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Explain the effects when economy is not in equilibrium.




